BLM Answers

Literacy Link: Venn Diagram

Sample Response

Use either graphing or substitution

when the linear system looks like
y=2x+land 2x—y=—-1

Substitution:
When the variables are
already re-arranged such
asiny=-4x+9 and
2x—y=4

Graphing:
When the numbers

are simple such as in
Y=x+2

Y==x+4

3x+5y=12,2x—y=-5

We could re-arrange for
Elimination: When variables are equal but yor rtl_lultg)lysthe second
x+y=2and . have opposite signs, such as the x terms in cquation by 5.
3x —y =2 can be easily 3x+2y=-land 3x+4y="7
re-arranged to graph or

added up for elimination
method



